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1. (A)      31-3-2019      ‘12%  
  ’      14 

  (1) 1-4-2018   : 

 (`) 

   7,50,000 

   7,12,500 

  (?) 

  (2)       30   31  ( 
). 

  (3)     

   (`)  (`)   

1-8-2018 7,50,000 96    

1-9-2018 4,50,000 95    

1-12-2018 6,00,000 97    

28-2-2019 3,75,000 101    

  (4) -      1%     . 

  (5)     ‘    ’ (FIFO)   
  . 

 
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  (1)    12%         30    
31     . -    1%  
   .         
   7 

  (`)    

1-6-2018 104 832    

1-10-2018 106 530    

           . 
  (2)    (  ) 7 

   (i)      
   (ii)      

   (iii)     ‘’ (FIFO)  ‘’ (LIFO)  
   (iv)       

 (B)                 
  (  )  4 

  (1)      
   (a)     . 
   (b)     . 
   (c)         . 
  (2)    … 

   (a)   (b)  
   (c) (a)  (b)  (d)     
  (3)       (  )    
   (a)   –  +  (b)     

   (c)   +  +  (d)     
  (4)     ... 
   (a)       . 
   (b)       . 
   (c)      . 
   (d)       . 
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  (5)  1-7-2018   12%  ` 1,80,000   ` 2,20,000 . 
   1%  .     30    31 
   . 

         _______ . 
   (a) ` 2,33,000 (b) ` 1,92,600  

   (c) ` 2,22,200 (d) ` 2,35,200 

  (6)          . 
   (a)   

   (b)   

   (c)       

   (d)     
 

2. (A)  1-4-2015           
,          14 

  (a)      1-4-2015  ` 2,00,000 . 
  (b)            

 (`) 

31-3-2016     3,20,000 

31-3-2017     (?) 

31-3-2018     1,60,000 

31-3-2019     96,000 

  (c)        20%    . 
  (d)    10%        . 
  (e)       31     . 
  (f) 31-3-2017            

-  . 1,52,000  

      80,000 

      72,000 

       
  (i)   
  (ii)    

 
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  (1)  1-1-2018         (Second 

hand)      .      
       7 

 …   1-1-2018 30-4-2018 31-8-2018 31-12-2018 

  (`) 10%   1,78,000 1,30,000 84,000 

     15%      .   20%  
 . 

           

   (i)    

   (ii)    

  (2)    (  )   7 

   (1)          

   (2) ‘     ’ –  . 

   (3)       

    ‘ ’, ‘   ’  ‘ ’ 

 (B)                

  (  )    4 

  (1)       ? 

   (a)    ,        . 

   (b)    ,        . 

   (c)    ,        . 

   (d)    ,        . 

  (2)       ? 

   (a)             
 . 

   (b)            . 

   (c)              . 

   (d)              . 
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  (3)    ` 4,200.     ` 4,680, ` 3,720,  

` 2,820  ` 1,980  .    10% .    
. 

   (a) ` 13,200 (b) ` 15,000 

   (c) ` 17,400 (d) ` 8,880 

  (4)       .    ` 1,80,000 .  
 ` 60,000     ` 30,000     . 
      . 

   (a) ` 60,000 (b) ` 10,000 

   (c) ` 20,000  (d) ` 30,000 

  (5)             ? 

   (a)   (b) -  

   (c)   (d)   

  (6)           ? 

   (a)   (b)   

   (c)   (d)   

  

3. (A)        . 14 

   -  3 : 2     . 

      ` 30   -   . 

   15,000   ,    ` 150      
   . 

           

 (`) 

    60,000 

  25,000 

           ` 40,000  

  ,      . ` 45,000 

      ` 36,000    . 

     ` 24,000    . 
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        .    10%   
    .  10%      
    80%    40   . 

   60% ,     50%    .  30% , 
    60%    .      
    . 

            . 

         5%     . 

               
    

  (i)    

  (ii)    

  (iii)   

 

  (1)        3 : 2   -  
  .       5%  . 7  

     ` 4,00,000     . 

           

   (`)   (`) 

  4,000 – 

  3,000 3,000 

  7,200 6,000 

   3,00,000 2,72,000 

   ` 40,000      15%   .   
  . 

           

   (i)    

   (ii)   
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  (2)            7 

   (i)     ?         ? 

   (ii)       . 

   (iii)       . 

   (iv)       . 

 (B)                 

  (  )    3 

  (1)           ? 

   (a)   (b)   

   (c)    (d)    

  (2)           ? 

   (a)     (b)     

   (c)    (d)   

  (3)      ` 9,00,000      ` 7,80,000  
           ? 

   (a) ` 9,00,000 (b) ` 7,80,000 

   (c) ` 1,20,000 (d)     

  (4)          ? 

   (a)     

   (b)  -   

   (c)    -    

   (d)    

  (5)     _________. 

   (a)       . 

   (b)       . 

   (c) -     . 

   (d)   . 
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4. (A)     ?   7.2    .   
  .   14 

             
  (1)    (  )   7 

   (i)   
   (ii)    

   (iii)   
   (iv)   7.2           . 
  (2)           7 

   (i)         . 
   (ii) -            

 ? 

 (B)                 
  (  )    3 

  (1) ‘ ’         ‘’ (Key) 
 ? 

   (a) F7 (b) F11 

   (c) F5 (d) F2 

  (2) ‘’       ‘’  (Key)  ? 

   (a) F6 (b) F8 

   (c) F12 (d) F2 

  (3) ‘’       ‘’ (Key)   ? 

   (a) F12 (b) F2 

   (c) F7 (d) F6 

  (4)  ‘’  -  -       
   ‘’ (Key)   ? 

   (a) F11 (b) Ctrl + F2 

   (c) Alt + F1 (d) F12 

  (5)    (Narration)   (Repeat)  ‘’  ‘’ 
(Key)     ? 

   (a) Alt + D (b) F4 

   (c) Ctrl + C (d)     
________ 
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Seat No. :  _______________
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March-2019 

B.Com, Sem.-II 

CC-108 : Accounting-II 
 

Time : 2:30 Hours]  [Max. Marks : 70 
 

 
1. (A) From the following information, prepare 12% Central Government Loan Account 

in the books of Bhagyashree for the year ending on 31-3-2019 : 14 

  (i) Opening balance as on 1-4-2018 : 

 (`) 

Face value of loan 7,50,000 

Cost price of loan 7,12,500 

Accrued Interest (?) 

  (ii) Dates of payment of Interest : 30th June and 31st December every year 

(Avoid Income tax) 

  (iii) Transactions during the year : 

Date Face Value (`) Price (`) Remarks 

1-8-2018 7,50,000 96 Cum-interest purchase 

1-9-2018 4,50,000 95 Ex-interest sale 

1-12-2018 6,00,000 97 Ex-interest purchase 

28-2-2019 3,75,000 101 Cum-interest sale 

  (iv) Brokerage is calculated @ 1% on market value of every transaction of 

purchase and sale. 

  (v) Valuation of closing balance of investment is to be calculated as per ‘First 

in First out’ (FIFO) method. 

OR 
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  (1) Mr. Hemil had 12% Government Securities on which interest paid on 30th 
June and 31st December every year. 1% brokerage is calculated on every 
transaction of purchase and sale. From the following details, find out face 
value and capital value of security : 7 

Date Price (`) Brokerage Remarks 

1-6-2018 104 832 Cum-interest purchase 

1-10-2018 106 530 Ex-interest sale 

   Also write journal entries for above transactions in the books of Mr. Hemil. 

  (2) Write a short note on : (any Two) 7 

   (i) Ex-interest and Cum-interest transactions 

   (ii) Face value and Capital value. 

   (iii) FIFO and LIFO methods of valuing closing stock in case of 
investments. 

   (iv) Brokerage on purchase and sale of Investments. 

 (B) For each of the following sub-questions, select most appropriate answer from the 
given alternatives : (attempt any Four) 4 

  (1) Brokerage on purchase of Investments will 

   (a) increases the total purchase price 

   (b) decrease the total purchase price 

   (c) have no effect on total purchase price 

  (2) Cost of investment includes  

   (a) Stamp duty (b) Brokerage 

   (c) Both (a) and (b) (d) None of the above 

  (3) The capital value of investments in case of Ex-interest purchase (subject to 
Brokerage) means : 

   (a) Purchase price – Interest + Brokerage 

   (b) Market price on the date of purchase 

   (c) Purchase price + Interest + Brokerage 

   (d) None of the above 

  (4) Interest on security is calculated on  

   (a) Market value of security (b) Purchase price of security 

   (c) Sales value of security (d) Face value of security 
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  (5) On 1-7-2018, Mihan purchased 12% debentures of ` 1,80,000 for  
` 2,20,000. He paid brokerage at 1% on purchase price. Dates of payment 
of interest are 30th June and 31st December every year. 

   In this case, the capital value of debentures purchased would be  

   (a) ` 2,33,000 (b) ` 1,92,600  

   (c) ` 2,22,200 (d) ` 2,35,200 

  (6) While selling securities, brokerage is generally calculated on following 
price  

   (a) Book value  

   (b) Sales value 

   (c) Average of sales value and face value 

   (d) None of the above 

 

2. (A) Shreyansh has purchased a Motorcar on hire-purchase system from Active 
Automobiles on 1-4-2015. Details of the contract are as under : 14 

  (a) ` 2,00,000 paid on 1-4-2015 on signing the contract. 

  (b) The balance amount is payable in four annual instalments as under : 

 (`) 

First instalment on 31-3-2016 3,20,000 

Second installment on 31-3-2017  (?) 

Third installment on 31-3-2018 1,60,000 

Fourth installment on 31-3-2019 96,000 

  (c) Interest is to be paid at 20% per annum on remaining balance of cash price. 

  (d) Motor car is to be depreciated at 10% per annum by diminishing balance 
method. 

  (e) Accounting year of both the parties ends on 31st March every year. 

  (f) On 31-3-2017 the following journal entry is passed in the books of 
Shreyansh : 

Profit & Loss Account Dr. 1,52,000  

 To Interest on Motor Car  80,000 

 To Depreciation on Motor Car  72,000 

  Prepare : In the books of Shreyansh 

  (i) Motor car Account 

  (ii) Active Automobiles Account 

OR 



MU-114 12  

  (1) Bhashit purchased a second-hand Honda Car from Neha Motors on 1-1-
2018 on hire-purchase method. He had paid following amount towards the 
purchase of car :   7 

As on  1-1-2018 30-4-2018 31-8-2018 31-12-2018 

Amount paid (`) 10% cash price 1,78,000 1,30,000 84,000 

   Instalments include interest at the rate of 15% per annum. Depreciation is to 
be charged at the rate of 20% per annum. 

   From the above information prepare in the books of Bashit : 

   (i) Honda Car Account and 

   (ii) Neha Motors Account  

  (2) Write short note on : (any Two)   7 

   (1) Difference between Hire-purchase and Instalment System 

   (2) ‘Hire-purchase System is not sale’ – Discuss. 

   (3) In connection with Hire-purchase, explain : ‘Cash Price’, ‘Down 
Payment’ and ‘Contract Price’. 

 (B) For each of the following sub-questions, select most appropriate answer from the 
given alternatives. : (attemp any Four)   4 

  (1) Which of the following statement is correct ? 

   (a) In hire-purchase system, depreciation is calculated on market price of 
asset purchased. 

   (b) In hire purchase system, depreciation is calculated on last instalment 
of asset purchased. 

   (c) In hire-purchase system, depreciation is calculated on contract price 
of asset purchased. 

   (d) In hire-purchase system, depreciation is calculated on cash price of 
asset purchased. 

  (2) Which of the following statement is correct ? 

   (a) In hire-purchased system, the interest is calculated on each instalment 
on opening balance of assets. 

   (b) In hire-purchased system, the interest is calculated on each instalment 
on contract price. 

   (c) In hire-purchased system, the interest is calculated on each instalment 
on the outstanding case price. 

   (d) In hire-purchased system, the interest is calculated on each instalment 
on the outstanding contract price. 
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  (3) Paid ` 4,200 at the time of contact. Four annual instalments were paid 

respectively ` 4,680, ` 3,720, ` 2,820 and ` 1,980 per annum, rate of 
interest was 10%. Find out cash price of machine. 

   (a) ` 13,200 (b) ` 15,000 

   (c) ` 17,400 (d) ` 8,880 

  (4) Srujal has purchased one machine on hire-purchase agreement. Cash price 

of the machine is ` 1,80,000. The amount is to be paid on agreement  

` 60,000 and the balance amount is paid by three equal annual installment 

of `  30,000 each. Find out the amount of interest included in the instalment 

of second year. 

   (a) ` 60,000 (b) ` 10,000 

   (c) ` 20,000  (d) ` 30,000 

  (5) At the end of the year, the interest paid and depreciation charged are 

transferred to which account ? 

   (a) Asset Account (b) Profit & Loss Account 

   (c) Purchaser’s Account (d) Seller’s Account 

  (6) Which of the following is not included in the hire-purchase agreement ? 

   (a) Number of installment (b) Method of depreciation 

   (c) Installment amount (d) Interest rate 

  

3. (A) Rajvi and Rupal entered into a joint venture as dealer in land : 14 

  They decided to share profit & loss in the ratio of 3 : 2 respectivelty. 

  They deposited ` 30 lakhs in their Joint Bank A/c as per their profit sharing ratio They 

purchased 15,000 Square metre land at ` 150 per square metre, money for which were 

paid from Joint Bank A/c. From Joint Bank A/c, they paid following expenses : 

 (`) 

Land levelling expenses 60,000 

Municipal taxes 25,000 

  Registration, Stamp duty and Lawyer’s fees – ` 45,000.  

  Income from selling of timber deposited of Joint Bank A/c – ` 40,000.  

  Rajvi paid ` 36,000 as expenses of compound wall from her personal account. 

Rupal paid ` 24,000 as architect fees from her personal account. 
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  They prepared a plan for selling the plot of land. In the said plan 10% of the land 

left over for public roads, another 10% of the land left over for public park and 

remaining 80% land was divided into 40 plots of equal size. 

  Milan sold 60% plots, each for cash at 50% profit on cost. Shreyansh sold 30% 

plots, each for cash at 60% profit on cost. Transactions regarding sale of plots are 

done through Joint Bank Account.  

  Rajvi and Rupal took over remaining plots equally at cost price. 

  Milan and Shreyansh are entitiled to get 5% commission on their respective sales. 

  Prepare following accounts from the above information assuming that accounts 

have been settled among the partners. 

  (i) Joint Venture Account  

  (ii) Joint Bank Account 

  (iii) Partners Account 

OR 

  (1) Manan and Megha entered into a Joint Venture with a condition to share 

profit and losses in the proportion of 3 : 2. Each will receive 5% 

commission on the proceeds of sales made by her/him. 7 

   Manan purchased goods of ` 4,00,000 in cash. 

   Other transactions relating to the venture were as follows : 

Particulars Paid by Manan (`) Paid by Megha (`) 

Carriage 4,000 – 

Travelling Expenses 3,000 3,000 

Sundry Expenses 7,200 6,000 

Goods sold on cash 3,00,000 2,72,000 

   Unsold stock of ` 40,000 was taken over by Manan at 15% profit. Both the  

co-ventures settled their accounts. 

   From the above particulars, prepare in the books of Manan : 

   (i) Joint Venture Account 

   (ii) Megha’s Account 
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  (2) Attempt any two from the followings :  7 

   (i) What is Joint Venture ? For what type of business Joint Venture is 

suitable ? 

   (ii) Distinguish between Joint Venture and Partnership. 

   (iii) Distinguish between consignment and joint venture. 

   (iv) Explain the methods of keeping accounts of Joint Venture in brief. 

 (B) For each of the following sub-questions, select most appropriate answer from the 

given alternatives : (attempt any Three)    3 

  (1) Which of the following activity is appropriate for Joint Venture Business ? 

   (a) Cloth shop (b) Medical store 

   (c) Manufacturing of cement (d) Underwriting of shares   

  (2) Which of the following activity is not appropriate for Joint Venture Business ? 

   (a) Construction of a community hall 

   (b) Sale of seasonal fruits 

   (c) Paper mill 

   (d) Film distribution 

  (3) Bonds of ` 9,00,000 are received against work done in joint venture 

business and they are sold for ` 7,80,000 then, what amount is recorded on 

the debit side of Joint Venture Account ? 

   (a) ` 9,00,000 (b) ` 7,80,000 

   (c) ` 1,20,000 (d) None of the above 

  (4) Joint Venture Account is similar to which of the following option ? 

   (a) Similar to only Trading Account 

   (b) Similar to only Profit and Loss Account 

   (c) Similar to mixture of Trading & Profit and Loss Account 

   (d) Similar to Balance Sheet 

  (5) Abnormal loss of Joint venture is _________. 

   (a) recorded on debit side of Joint Venture Account. 

   (b) recorded on the debit side of Insurance Company Account 

   (c) recorded on the debit side of Profit and Loss Account 

   (d) recorded nowhere 
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4. (A) What is Tally Software ? Explain special features of “Tally Software 7.2” version. 
Also describe the usefulness of computers in accounting. 14 

             OR 

  (1) Write short notes on : (any Two)   7 

   (i) Computer Language 

   (ii) Hardware and Software 

   (iii) Limitations of Computer 

   (iv) According to 7.2 Tally version, give details about creating a new 
company. 

  (2) Attempt any one from the following :  7 

   (i) Discuss Accounting Information System V/s Management 
Information System. 

   (ii) How will you select best software for business from available various 
accounting softwares ?  

 (B) For each of the following sub-questions, select most appropriate answer from the 
given alternatives : (attempt any Three)    3 

  (1) For payment to the creditor regarding with purchase of goods, which of the 
following key has to be pressed in ‘Tally Software’ ? 

   (a) F7 (b) F11 

   (c) F5 (d) F2 

  (2) For changing date in ‘Tally’, which of the following key has to be pressed ? 

   (a) F6 (b) F8 

   (c) F12 (d) F2 

  (3) When entry for an adjustment is to be made, which of the following key 
must be pressed in ‘Tally’ ? 

   (a) F12 (b) F2 

   (c) F7 (d) F6 

  (4) If details of Balance Sheet and Profit & Loss A/c are to be seen in ‘Tally’, 
which of the following key must be pressed ? 

   (a) F11 (b) Ctrl + F2 

   (c) Alt + F1 (d) F12 

  (5) In ‘Tally’, which function ‘key’ is used to repeat the narration of previous 
voucher ? 

   (a) Alt + D (b) F4 

   (c) Ctrl + C (d) None of the above   
________ 


